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	Sideshow Bob was the victim, the murderer was Mr Burns.


	Bart
[image: http://t2.gstatic.com/images?q=tbn:ANd9GcTKL46qVTqAKbG245n3xVBjDPsZfiCESnkWvtv_tttWzQ683vUl]
 Bart paid $3.50

	Mr Burns

[image: http://t3.gstatic.com/images?q=tbn:ANd9GcQ-gI0LpcX1nTbP91xo6MRuIoC_GtX7bl6L3ofvva6TNRYTgm_a]
Mr Burns paid $3.62
	

   [image: http://t0.gstatic.com/images?q=tbn:ANd9GcSfFEC--sE5y39oTAWapEWJMBu-GkzTcpGnwluyub8McQyMTG8ziA]

Mr Skinner paid $3.18


	Ralph

       [image: http://t2.gstatic.com/images?q=tbn:ANd9GcQRDtOj3V3BCSZhpQZaGpklexMVgDiWdhcoTli3X2Ts-87Txl-p]
Ralph paid $3.02


	Sideshow Bob
[image: http://t1.gstatic.com/images?q=tbn:ANd9GcSjLxwIoHtnsl9MzROBqj9M_PUUT9EmpSdJAc7uFNjgqmKt3JIP-g]
Sideshow Bob paid $2.06
	    Millhouse
    [image: http://t0.gstatic.com/images?q=tbn:ANd9GcQn6KVJrh8uClAmDjYYUl6o3EPn3NFWvGoMHV_-gv1Epz3kJajI] 
Millhouse paid £3.42

	

	When 
The murder took place on Tuesday 15th March          

	On the ___ day of the ______month

	

	Where
Solve the following, find the difference between x and y (x-y) then match the answer to the place where the murder was committed.

	
   5x + 2y = 16
 20x + 3y= 49

	-1 …………In the graveyard
[image: http://parenting.leehansen.com/downloads/clipart/halloween/images/headstones.gif]
	[image: http://www.clipartguide.com/clipart_halloween_pics/haunted_house.gif]3 ……….In a haunted house
	[image: http://t3.gstatic.com/images?q=tbn:ANd9GcSE1ptNeMWVFvCWwVWn75Ou8-RyImRXnWRE0om2Pqa-3Bc5VmvNyA&t=1] -4 ……… In a spooky dungeon

	2………… In a tall rickety tower
[image: http://t3.gstatic.com/images?q=tbn:ANd9GcQSf7zdIOU_byEwkqkQIbtw4Hp200BimcNbWtw94lZNFpebsQQxrNp3jw]

	

	Why
Solve the following then use your answers to decode the murders message.
2T + 3E= 20           4I + 3R= 23          3A + M = 15          5H + U = 53
  T +   E= 7             2I + 5R = 29          A + 2M = 10         7H + 2U = 79

20S + 3F= 170
4S + 5F = 78
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	1
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	10
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	3
	8
	5
	
	

	
	
	
	
	

	

	Final Accusation

	_______________murdered __________________. In (where) _________on (when)______ because (why)_______________________






Answers
	Who
a) X = 3  y=4    vampire
b) X= 2   y=5    ghost
c) X= 5   y=3    witch
d) X=6   y=8     zombie
Therefore the skeleton is murderer and the werewolf is victim

	When
D = 5      f = 2
M = 11    n = 4
5th November

	Where
X = 2 Y=3 
Therefore x – y = -1 so it was in the graveyard
	Why
It ate his femur
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